D 3x+1=x+14
®5=x+3

B 4x=x-3
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@ 3x+5x=-2+1

D 3x-5x=-2+1

@ 3x+5x=-2-1

® 3x-5x=-2-1

B 3x+5x=2-1
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@D 4x+5=9 © x*+4=5x-1
© 6x—9=9+ 6x ® x-1=-x+3
@ 3x-7T=3(x+2) ® 5x+2=6x
® 6,0, ONQRENE) ® 0,60

® o, ®, 6B ® O, 0,6
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® 4x+3=5(x-3) @ 4x+3=3(x+3)
@ 4x+3=3(5+2x) @ 4x+3=3(5-2x)

® 4x-3=3(x+3)
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® 0.5x=-0.1x+1.2

® 2(x-2)=0
x+1 4—x
© —=—

@ 0.5-0.1x=0.2

@ 03x-1=-04
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6. HAHA —(4a—1) = 1.5-05(4-0.6x) &l 7t x =5 4 M, a 9
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=4x—-4

@ 4(x-1)

D 2x-3=2x

@ 4x=3x-2

®3-x=x-3

B —x+3=92x-8



x=ay+b
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b+p

@D a=bOlHa+p

© a=b°|Hag=bg







